
G2(5) (mod 2)

blocks defect matrix

G : 1 6 18× 7
2 4 8× 3
3 0 9601 = χ6, ϕ5

4 = 3 0 9602 = χ7, ϕ6

5 4 8× 2
6 0 120961 = χ21, ϕ13

7 0 120962 = χ22, ϕ14

blocks defect matrix

8 0 120963 = χ23, ϕ15

9 0 120964 = χ24, ϕ16

10 0 120965 = χ25, ϕ17

11 0 178561 = χ40, ϕ20

12 0 178562 = χ41, ϕ21

13 0 178563 = χ42, ϕ22

Block 1: ϕ1 ϕ3 ϕ4 ϕ7 ϕ8 ϕ9 ϕ18

11 = χ1 1 . . . . . .
2801 = χ3 . 1 . . . . .
6511 = χ4 1 . 1 . . . .
9301 = χ5 . 1 1 . . . .
10851 = χ8 1 . . 1 . . .
10852 = χ9 1 . . . 1 . .
12401 = χ10 . . . . . 1 .
18901 = χ11 . . 1 . . 1 .
32551 = χ16 1 1 1 . 1 1 .
32552 = χ17 1 1 1 1 . 1 .
39061 = χ18 2 1 2 1 . 1 .
39062 = χ19 2 1 2 . 1 1 .
156241 = χ30 . . . . 2 1 1
156245 = χ34 . . . 2 . 1 1
156251 = χ38 1 . . 1 1 1 1
162751 = χ39 1 . 1 1 1 1 1
195301 = χ43 2 1 2 1 2 2 1
195302 = χ44 2 1 2 2 1 2 1

ϕ1 = 11
ϕ3 = 2801
ϕ4 = 6501
ϕ7 = 10841
ϕ8 = 10842
ϕ9 = 12401
ϕ18 = 122161

Block 2: ϕ2 ϕ10 ϕ19

1241 = χ2 1 . .
24801 = χ12 . 1 .
26041 = χ13 1 1 .
130201 = χ26 1 . 1
155001 = χ29 1 1 1
156246 = χ35 2 1 1
156247 = χ36 2 1 1
156248 = χ37 2 1 1

ϕ2 = 1241
ϕ10 = 24801
ϕ19 = 128961



Block 5: ϕ11 ϕ12

26042 = χ14 1 .
26043 = χ15 1 .
104161 = χ20 . 1
130202 = χ27 1 1
130203 = χ28 1 1
156242 = χ31 2 1
156243 = χ32 2 1
156244 = χ33 2 1

ϕ11 = 26041
ϕ12 = 104161


